ERR17E9A1T1AMIT REMEBEEHKERE (MEZERX) ERER
5 % . %Eﬁ*&%%ﬂzu—) BEEEH(N) _ REE (%) _
2 = &t 5 z H 5 = H
1| RREE PR 884 830 1,714 530 487| 1,017| 59.95| 5867 | 59.33
2| HERERT 2212 2195 4407 1455 1,419 2874| 6578 | 6465 6521
3| o oAHREE 1,651 1,647| 3298| 1085 1,107| 2192| 6572| 67.21| 66.46
4| BREBRGERER 1,268| 1,248 2516 870 872| 1,742| 6861 | 69.87| 69.24
5| FH&R/INERR 1,299 1,345 2,644 875 910| 1,785 67.36 | 67.66| 67.51
6| KIGF R=EE 2,282 2,165 4,447 1,246 1,241 2487 5460| 57.32| 5593
7| B REHE/NER 2,128 2,023 4,151 1,232 1,206 2438 5789 | 5961 | 5873
8|dLeh gk 349 323 672 198 197 395| 56.73| 6099 | 5878
9|ZEB/INFER 1,614 1526| 3,140 967 938 1905 5991 | 6147 | 6067
10| $r /MR 1,870 1,761 3,631| 1087| 1068| 2155 58.13| 6065| 59.35
M|EME##HR Xtz 32— 1,390 1,293| 2,683 781 750| 1,531 56.19| 5800 57.06
12|Ba g 1,830| 1,855 3685 1,108| 1,110| 2218| 6055| 59.84| 60.19
13| RFEREM 825 785 1,610 462 456 918| 56.00| 5809 | 57.02
14| T#HBEEASR 2010 1920 3930 1,164 1,179| 27343| 5791 | 6141 | 5962
15| = M BR/NERR 1,184 1,149| 2,333 713 730| 1,443| 6022 | 6353| 61.85
16| = M /2R 1,686| 1,520 3,206 895 854| 1,749 53.08| 56.18| 5455
17|FELRE 677 595| 1,272 386 349 735| 57.02| 5866 | 57.78
18R _E/NEEAR 1,059 1,027| 2086 626 620| 1.246| 59.11| 60.37| 59.73
19|EI B /NERR 1529 1.419] 2948 837 798| 1,635 5474 | 56.24 | 5546
20| R IGERB R 1,200] 1,149 2,349 651 678| 1,329| 5425| 59.01| 5658
21| Prig=tE 977 994 1,971 557 600 1,157| 57.01 | 60.36| 58.70
22| A I INERR 1,998 1948| 3946| 1,115| 1,138| 2253| 5581 | 5842 | 57.10
23(HIIERFR 802 780| 1,582 440 412 852| 54.86 | 5282 | 53.86
24| FRIBAL 1B 1,874 1667 3541 990 954| 1944| 5283| 57.23| 5490
25| 6L A+ R 1,581| 1534 3,115 870 879| 1,749 55.03| 57.30| 56.15
26| ERE X bt 2— 1,407| 1367| 2,774 749 739| 1,488 5323 | 5406 | 53.64
271|ENF AREE 1,064| 1,031] 2095 607 594| 1,201| 57.05| 5761| 57.33
28| IR AR /NFEER 3,207| 3351 6558] 2259 27352 4,611 7044 | 70.19| 70.31
29| EREREFR 1,319 1242 2561 701 657| 1,358| 53.15| 52.90| 53.03
30[#x/VERR 1,043 1,144 2,187 583 658 1241 5590 | 5752 | 56.74
31| KRB 1,081 979 2,060 603 549| 1,152 5578 | 56.08| 55.92
32(ILTE/NFERR 1,154| 1,168 2322 704 678| 1,382| 61.01| 5805| 5952
33| DEREM 1,017 826| 1,843 560 467| 1,027 55.06| 5654 | 55.72
34BN INERR 1,310 1,348| 2,658 821 805| 1626 62.67| 59.72| 61.17
35| A LRE 1,324| 1,187 2511 792 705 1,497| 5982 | 59.39| 59.62
36[E R /IMFER 1,192| 1,069 2,261 756 683 1,439 6342 | 6389 | 63.64
37| EREREFR 952 905| 1,857 515 492 1007| 54.10| 5436 | 5423
a &t 52,249 50,315 102,564| 30,790| 30,331| 61,121| 5893 | 60.28 | 59.59




ERR17E9A1T1BMIT  REMEEHKES (BAKR) ERER
5 % . %Eﬁ*&%*ﬁﬂz()k_) BEEEH(N) _ HEE (%) _
2 = &t 5 z H 5 = H
1| RREE PR 884 830 1,714 530 487| 1,017| 59.95| 5867 | 59.33
2| HERERT 2212 2195 4407 1455 1,419 2874| 6578 | 6465 6521
3| o oAHREE 1,651 1,647| 3298| 1085 1,107| 2192| 6572| 67.21| 66.46
4| BFRERER 1268 1248 2516 871 872 1,743| 6869 | 69.87| 69.28
5| FH&R/INERR 1,299 1,345 2,644 875 910| 1,785 67.36 | 67.66| 67.51
6| KIGF R=EE 2,282 2,165 4,447 1,246 1,241 2487 5460| 57.32| 5593
7| B REHE/NER 2,128 2,023 4,151 1,232 1,205 2437 5789 | 5957 | 5871
8|dLeh gk 349 323 672 198 197 395| 56.73| 6099 | 5878
9|ZEB/INFER 1,614 1526| 3,140 967 938 1905 5991 | 6147 | 6067
10| $r /MR 1,870 1,761| 3,631| 1,086| 1068| 2154| 5807 | 6065| 59.32
M|EME##HR Xtz 32— 1,390 1,293 2,683 781 750 1,531 56.19| 5800| 57.06
12|Ba g 1,830| 1,855 3685 1,108| 1,110| 2218| 6055| 59.84| 60.19
13| RFEREM 825 785 1,610 461 456 917| 55.88 | 58.09 | 56.96
14| T#HBEEASR 2,010 1920 3930 1,164| 1,178| 2,342 5791 | 61.35| 59.59
15| = M BR/NERR 1,184| 1,149 2333 712 730| 1,442| 60.14| 6353| 6181
16| = M /2R 1,686| 1,520 3,206 895 854| 1,749 53.08| 56.18| 5455
17|FELRE 677 595| 1,272 385 349 734| 56.87 | 5866 | 57.70
18R _E/NEEAR 1,059 1,027 2,086 626 620| 1.246| 59.11| 60.37| 59.73
19|EI B /NERR 1529 1.419] 2948 837 798| 1,635 5474 | 56.24 | 5546
20| R IGERB R 1,200] 1,149 2,349 651 679| 1,330| 54.25| 59.09| 5662
21| Prig=tE 977 994 1,971 557 600 1,157| 57.01 | 60.36| 58.70
22| A I INERR 1,998 1948| 3946| 1,114| 1,138| 2252| 5576 | 5842| 57.07
23(HIIERFR 802 780| 1,582 440 412 852| 54.86 | 5282 | 53.86
24| FRIBAL 1B 1,910 1,692| 3,602 999 962| 1961| 5230 | 56.86| 5444
25| 6L A+ R 1,581| 1534 3,115 870 879| 1,749 55.03| 57.30| 56.15
26| ERE X bt 2— 1,407| 1367| 2,774 748 739| 1,487 53.16 | 5406 | 53.60
271|ENF AREE 1,064| 1,031] 2095 606 594| 1,200| 5695| 57.61| 57.28
28| IR AR /NFEER 3,207| 3351 6558] 2259 27352 4,611 7044 | 70.19| 70.31
29| EREREFR 1,319 1242 2561 701 658| 1,359 53.15| 5298 | 53.07
30[#x/VERR 1,043 1,144 2,187 583 659| 1,242| 5590| 57.60| 56.79
31| KRB 1,081 979 2,060 603 549| 1,152 5578 | 56.08| 55.92
32(ILTE/NFERR 1,154| 1,168 2322 704 678| 1,382| 61.01| 5805| 5952
33| DEREM 1,017 826| 1,843 560 467| 1,027 55.06| 5654 | 55.72
34BN INERR 1,310 1,348| 2,658 821 805| 1626 62.67| 59.72| 61.17
35| A LRE 1,324| 1,187 2511 792 705 1,497| 5982 | 59.39| 59.62
36[E R /IMFER 1,192| 1,069 2,261 755 683| 1,438| 63.34| 6389 | 63.60
37| EREREFR 952 905| 1,857 515 492 1007| 54.10| 5436 | 5423
a &t 52,285| 50,340| 102,625/ 30,792| 30,340| 61,132| 5889 | 60.27| 5957




FERRI17HF9OAT1T1HT  RERBELEZS NEERX) MEHER
BHES IEHERA " K ®E X
1 =Yk =L BEEHRER 30,229
2 B #08 AARHXER 6,393
3 FE Ja— RER 23,247
A CES 59,869
B BAUIET 0
C BAMRES (=A+B) 59,869
D m3h mefl 1,251
E BEEBH (=C+D) 61,120
F ?#%J%U-%oﬂm 1
G =R (=E+F) 61,121




FERI17F9OA1T1HT  RERBELEZS (LHIKRK) MEHER
BHES RERLEBHBRREEDRZM ®E X

1 I =S 2,374

2 BEBRRER 23,061

3 RER 17,905

4 HERER 2,232

5 NEAR 9,178

6 AARHXER 5,534

A REHE 60,284
B BAUIET 0
C AEMREY (=A+B) 60,284
D 23] mefl 846
E BEEBH (=C+D) 61,130
F ?#%J%U-%oﬂm 2
G =R (=E+F) 61,132




